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Extevior P\V\ﬂlﬁg Practice

Femenber: The Exterir hvdle Thearem siys that the exterior andle of a fongle k& equal Yo
fhe qum of the two rewote Wreror anges See the piiwe belw for an exanple
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Use. the Extevior P\Wﬂ\z Theorem 1o help you solve for MQQWJ amg\@s and values belw.
Femember To Ty and cet up an equotion that vcpvage,vﬁrg the VC\GﬁOMSMIPS you Fow - glout
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The two remote interior angles of a triangle Draw it:
are ¢2° and 9¢°. What is the measure of the
exterior angle?

o _ Missing Angle Measure: !2) (&

Jse the drawing bejow for question 8.
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Find ms3 if 25 1S 130° and Mg iS 70°. M3 = f@! ]
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Find m22 if 25 is 192° and mz4 is 65°. 1 =|0 gfz A4
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Find ms2 if m%.3?g135° and mz4¢ is 23° m42 QD\
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Use the drawing below for questions 9 and 18, “5o

M6 + Me7 + Ms8 = ‘ %O

mz11 = Nz, !(2 + Mms7.

49 =Ms7 + M2 % .

I the measure of angle 10 is equal to the sum Of angles 6 and 8. The sum of angles 7
and 10 is 180° because they are suppletentary. Houw Canh you use both of these facts
O Support the Interior Angle Theorem?
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